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Résultats	
  
Pour	
  une	
  popula+on	
  de	
  9	
  personnes	
  
dont	
  1	
  malade,	
  on	
  a	
  :	
  	
  

	
  	
  
	
  3	
  morts	
  

	
  
	
  5	
  guéris	
  
	
  1	
  non	
  contaminé	
  

=	
  6	
  survivants	
  



Les	
  variables	
  

Soit	
  :	
  	
  
	
  n	
  la	
  popula+on	
  	
  
	
  k	
  le	
  nombre	
  de	
  personnes	
  

contaminées	
  durant	
  l’étape	
  
	
  c	
  le	
  nombre	
  de	
  contaminants	
  (malades)	
  
	
  pc	
  la	
  probabilité	
  qu’1	
  contaminant	
  

contamine	
  un	
  sain	
  



𝑃1=(​𝑛−1¦𝑘 )× ​𝑝𝑐↑𝑘   × ​(1−𝑝𝑐)↑𝑛−1−𝑘 	
  

Probabilité	
  P1	
  que	
  1	
  contaminant	
  contamine	
  k	
  personnes	
  dans	
  la	
  
popula+on	
  saine	
  :	
  

Probabilité	
  P	
  que	
  c	
  contaminants	
  contaminent	
  k	
  personnes	
  dans	
  la	
  
	
  popula+on	
  saine	
  	
  

𝑃=(​𝑛−𝑐¦𝑘 )                                                                          × ​[(1−𝑝𝑐)↑𝑐 ​]↑(𝑛−𝑐)−𝑘 	
  × ​[1−(1−𝑝𝑐)↑𝑐 ​]↑𝑘 	
  



But	
  de	
  la	
  recherche	
  :	
  	
  
	
  
On	
  s’intéresse	
  à	
  la	
  propaga?on	
  de	
  la	
  maladie	
  dans	
  un	
  
groupe	
  de	
  personnes	
  avec	
  1	
  malade	
  au	
  départ.	
  
	
  
La	
  maladie	
  s’arrête	
  dans	
  2	
  cas	
  :	
  

	
  -­‐	
  Toutes	
  les	
  personnes	
  ont	
  été	
  malades	
  
	
  -­‐	
  A	
  une	
  certaine	
  étape	
  il	
  n’y	
  a	
  pas	
  eu	
  de	
  contamina+on	
  
	
   	
  à	
  pas	
  de	
  contaminant	
  à	
  l’étape	
  suivante	
  	
  

	
  
Quand	
  elle	
  s’arrête	
  on	
  comptabilise	
  le	
  nombre	
  de	
  
personnes	
  kfinal	
  qui	
  ont	
  été	
  contaminées	
  et	
  la	
  
probabilité	
  de	
  chaque	
  kfinal	
  pour	
  pc	
  donné.	
  



In+tulé	
  des	
  graphiques	
  
-­‐	
  Pop	
  ini+ale	
  =	
  200	
  personnes	
  
-­‐	
  1	
  contaminant	
  de	
  départ	
  
-­‐	
  valeurs	
  théoriques	
  
	
  
-­‐	
  L’axe	
  des	
  abscisses	
  :	
  nombre	
  total	
  de	
  
personnes	
  contaminées	
  par	
  la	
  maladie.	
  
-­‐	
  L’axe	
  des	
  ordonnées	
  donne	
  la	
  probabilité	
  que	
  
tant	
  de	
  personnes	
  soient	
  contaminées.	
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Conclusions	
  à	
  par+r	
  des	
  graphiques	
  :	
  
	
  

1.  Quand	
  pc	
  est	
  trop	
  faible,	
  la	
  maladie	
  ne	
  se	
  
propage	
  pas.	
  

2.  Quand	
  pc	
  augmente	
  on	
  dis+ngue	
  2	
  cas	
  à	
  
forte	
  probabilité	
  :	
  soit	
  la	
  maladie	
  ne	
  se	
  
propage	
  pas,	
  soit	
  elle	
  se	
  propage	
  mais	
  
s’essouffle	
  	
  

	
  
3.	
  Quand	
  pc	
  est	
  trop	
  forte,	
  la	
  maladie	
  contamine	
  	
  	
  	
  	
  
tous	
  le	
  monde.	
  
	
  



Seconde	
  étude	
  

Nouvelles	
  direc+ves	
  :	
  
	
  	
  Si	
  on	
  mul+plie	
  la	
  popula+on	
  par	
    𝑥	
  	
  
	
  On	
  divise	
  la	
  probabilité	
  par	
  𝑥	
  

	
  
On	
  a	
  donc	
  	
  une	
  constante	
  :	
  

	
  𝛼=𝑛×𝑝𝑐	
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Popula+on	
  

100	
   200	
   300	
   400	
  

premier	
  quart	
   0,26468	
   0,25602	
   0,2535	
   0,25242	
  

deuxième	
  quart	
   0,01109	
   1,02E-­‐03	
   9,68E-­‐05	
   9,51E-­‐06	
  

troisième	
  quart	
   0,30517	
   0,33328	
   0,34104	
   0,34514	
  

quatrième	
  quart	
   0,41906	
   0,40969	
   0,40537	
   0,40243	
  

pop	
  ini+ale	
   pc	
  ini+ale	
   proba	
  d'avoir	
  1	
  contaminé	
  
5	
   0,370000	
   0,157530	
  	
  
10	
   0,185000	
   0,158642	
  
20	
   0,092500	
   0,158156	
  
30	
   0,061667	
   0,157875	
  
40	
   0,046250	
   0,157742	
  
50	
   0,037000	
   0,157648	
  
100	
   0,018500	
   0,157449	
  
150	
   0,012330	
   0,157459	
  
200	
   0,009250	
   0,157345	
  
300	
   0,006167	
   0,157293	
  
400	
   0,004625	
   0,157291	
  



​𝑃=(1−𝑝𝑐)↑𝑛−1 	
  

Avec	
  :	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  pc	
  ×	
  n	
  =	
  α	
  	
  	
  	
  	
  	
  et	
  	
  	
  	
  	
  	
  𝛼  ≥0	
  
	
  
D’où	
  
	
  
	
  
On	
  admet	
  :	
  
	
  
	
  
Pour	
  	
        𝛼=1,85      on	
  a	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

​𝑃=(1−   ​𝛼/𝑛   )↑𝑛−1 	
  

​​lim┬𝑛→∞  ⁠​(1− ​𝛼/𝑛 )↑𝑛−1 =   ​𝑒↑−𝛼 	
  

P	
  =	
   ​𝑒↑−1,85   ≈0,157237	
  



La	
  probabilité	
  P2	
  d’avoir	
  2	
  contaminés	
  au	
  final	
  peut	
  s’écrire	
  comme:	
  	
  

𝑃₂=(​𝑛−1¦1 )  ×𝑝𝑐  × ​(1−𝑝𝑐)↑𝑛−2 × ​(1−𝑝𝑐)↑𝑛−2 	
  

Comme	
  précédemment	
  pour	
  n→∞,	
  on	
  ob+ent	
  une	
  limite:	
  

𝑃₂=𝛼​×𝑒↑−2𝛼 	
  

𝑃₂=1,85× ​𝑒↑−3,70 ≈0,045739	
  


